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QUESTION 1

The routing policy tools that can be used by BGP mainly include Filter-policy and Route- policy. Fiter-policy can only
filter routes, and Route-policy can only modify routes. 

A. Yes 

B. wrong 

Correct Answer: B 

 

QUESTION 2

The IS-IS Level-1 neighbor relationship between R3 and R4 is not established. According to the information in this
figure. What is the possible reason? 

A. R3andR4the interconnect interfacecircuit-typeMismatch 

B. R3andR4different area codes 

C. R3andR4ofIS-LevelMismatch 
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D. R3andR1ofIIHAuthentication failed 

Correct Answer: B 

 

 

QUESTION 3

In the DU label distribution mode, if the Liberal retention mode is adopted, the device will retain the labels distributed by
all LDP peers, regardless of whether the LDP peer is the optimal next hop to the destination network segment. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 4

From this figure, we can conclude that 

A. R4not anyIS-ISNeighbor 
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B. R4andee8c.aOc2.baf3establishedIPv4,IPv6ofIS-ISNeighbor 

C. R4andee8C. aOe2.baf3only establishedIPv6ofIS-ISNeighbor 

D. R4andee8c.aOc2.bat3only establishedIPv4ofIS-ISNeighbor 

Correct Answer: B 

 

QUESTION 5

As shown in the figure, on the R1 router, network administrator A sends the routing entry to R2 through the routing
policy 

After modifying the MED value, you can control the path of traffic entering the AS100 

A. True 

B. False 

Correct Answer: A 
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